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R1=12 
L=43*10-3

R2=55
C=51*10-6


R3=93
E=180


R4=22
Uc-?

Решение
В исходном стационарном состоянии:
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В конечном стационарном состоянии
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p2*L*C*(R3+R2)+p*(L+C*(R1*R2+R2*R3+R1*R3))+R3+R1

0.000324564p2+0.394441p+105=0

p​1=-821.4804785   p2=-393.8145019    

Uc=U12(()+A1e-821.4804785t+A2e-393.8145019t

U12(0)= U12(()+A1+A2
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I3(+0)+I2(+0)+I3(+0)=0

E=I3(+0)*R3-I2(+0)*R2+U12(0)

180=93*(1.4173-I2(+0))-55*I2(+0)+17.0079

I2(0+)=-0.2107 A
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Uc= 20.5714 +2.815*e-821.48t-6.379*e-393.81t

































i3





i2





i1





2





1





E





R4





R3





R2





C





C





L





R1














_1054119555.unknown

_1054124790.unknown

_1054124922.unknown

_1054125207.unknown

_1054124819.unknown

_1054124478.unknown

_1054124746.unknown

_1054119407.unknown

